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Question Number : 1 Question Id : 799627601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 1 Question Id : 799627601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 2 Question Id : 799627602 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of the following fraction is the largest?

Options:
15

1 % 121

30
o oF 241

25
z # 201



50
4 % 403

Question Number : 2 Question Id : 799627602 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 3 Question Id : 799627603 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 3 Question Id : 799627603 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 4 Question Id : 799627604 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of the following fraction is the smallest?

Options:
7
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Question Number : 4 Question Id : 799627604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 799627605 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 5 Question Id : 799627605 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 799627606 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
V1200 X 147 is equal to:

Options:
{ % 310

5 % 320
3 % 410

4 v 420

Question Number : 6 Question Id : 799627606 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

V1200 X 147 ST 2
Options:
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Question Number : 7 Question Id : 799627607 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The HCF of 144, 180 and 192 is:

Options:
1 * §)

> % 9

Question Number : 7 Question Id : 799627607 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

144, 180 3T 192 FT Hgg= TATIIF &

Options:
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Question Number : 8 Question Id : 799627608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The value of 30-5 X 2 of 3 +(19-3) + 8 is:
Options:

1 * 0



Question Number : 8 Question Id : 799627608 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 9 Question Id : 799627609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The least number which when doubled will be exactly divisible by 12, 15, 24 and 25 is:

Options:
1« 300

> % 400
5 % 600

4 % 1200

Question Number : 9 Question Id : 799627609 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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. % 600
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Question Number : 10 Question Id : 799627610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A box contains 785 balls of red. white and blue colours. The total number of red and white
balls is 605 and the total number of white and blue balls 1s 471. The total number of red
and blue balls is:

Options:
;% 201

> % 471
s « 494

4 % 582

Question Number : 10 Question Id : 799627610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 11 Question Id : 799627611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The (LCM of = .~ and = )= { HCE of Lot amid %) is equal to:
10 &0 25 2 4 5

Options:

| % 288

- % 144
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Question Number : 11 Question Id : 799627611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 12 Question Id : 799627612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Sudha gets 3 marks for each correct answer and loses 1 mark for each wrong answer. She
attempts 50 questions and obtains 70 marks. The number of questions solved correctly by her is :

Options:

Question Number : 12 Question Id : 799627612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 13 Question Id : 799627613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Father’s age is 5 times the age of his son. Four years back it was 9
times the age of the son. The sum of ages (in years) of father and
SO NOW 15:

Options:

4 ® 60

Question Number : 13 Question Id : 799627613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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T W 56
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Question Number : 14 Question Id : 799627614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When a number is divided by 13, the remainder is 4. If the quotient. so obtained. is divided
by 5. the remainder is 3. What will be the remainder if the original number is divided by
657

Options:



4 o 43

Question Number : 14 Question Id : 799627614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 15 Question Id : 799627615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Options:
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Question Number : 15 Question Id : 799627615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 16 Question Id : 799627616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 60% of a number is 60 more than 20% of 1200, than 20% of the number is:

Options:
1 & &0

o W 00
2 « 100

4 % 120

Question Number : 16 Question Id : 799627616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 ® 80
o W 90
- v 100

L % 120

Question Number : 17 Question Id : 799627617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
There are three numbers. The first and second numbers are greater than the third number
by 25% and 20% respectively. What percent of the first number is the second number?



Options:

o W &80
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4 % 6

Question Number : 17 Question Id : 799627617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1.« 96

o W 80
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1{}41
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Question Number : 18 Question Id : 799627618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A positive mumber was decreased by 25% and then increased by 25%. The percentage
change in the number is:

Options:

-

1 % 06.75% increase
5 o 06.25% decrease
= #® 6.75% decrease

4 % Nochange

Question Number : 18 Question Id : 799627618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Options:
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Question Number : 19 Question Id : 799627619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the numerator of a fraction is increased by 15% and its denominator is diminished by

; : :m Aig ‘
8%o. the resulting fraction is e The sum of the numnerator and the denominator of the
original fraction is:

Options:
1 ® (6]

2.233
3 ¢ 7

4 W 11

Question Number : 19 Question Id : 799627619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 799627620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In a class the number of boys is 60% and the pass percentage of the boys and girls
combined i1s 50%. If 40% of the girls pass, the pass percentage of the boys is:

Options:
1 ® 35

o W 38

Question Number : 20 Question Id : 799627620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 *® 35

o W 38

Question Number : 21 Question Id : 799627621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The lengths and breadth of a rectangle are increased by 20% and
12% respectively. What is the percentage increase in its area:
Options:

1 & 32

o W 34

342
o 5
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Question Number : 21 Question Id : 799627621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 22 Question Id : 799627622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

By selling 33 metres of cloth, a merchant loses an amount equal to
the selling price of 3 metres of cloth. His gain / loss percent is:
Options:
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Question Number : 22 Question Id : 799627622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 799627623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A person sold an article at 5% loss. Had he sold it for Rs 104 more, he would have gained
8%. The cost price of the article was?

Options:
1 % Rs 760

= « RS 800
= % Rs 820

4 % Rs 900

Question Number : 23 Question Id : 799627623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| % ¥ 760

, v ¥ 800
- % ® 820

L % ® 900

Question Number : 24 Question Id : 799627624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A trader purchased two bags for Rs 750 each. He sold one at 6% profit and the other at 4%
loss. In the whole transaction. he gains?



Options:
L 1%

129%
2

Question Number : 24 Question Id : 799627624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 25 Question Id : 799627625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A sold an article to B at 15% profit. B sold it to C at 20% profit. If B's profit was Rs 64
more than A’s profit , then cost price of the article to A was:

Options:
1 #% Rs480
~ % Rs 720

= « Rs 800

4 % Rs 960

Question Number : 25 Question Id : 799627625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| % T 480
, % ® 720
2 v ¥ 800

L % ® 960

Question Number : 26 Question Id : 799627626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A trader purchases some pencils at the rate of one dozen pencils for

Rs 50 and sells them at the rate of 15 pencils for Rs 70. His gain
percent is:

Options:

1 #® 3

102
o W 7

z v 12

152
4 % 7

Question Number : 26 Question Id : 799627626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
1 ® 8-
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o 3 7
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Question Number : 27 Question Id : 799627627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A loss of 15% 1s incurred not increased when wheat is sold for Rs

13.60 per kg. At what price per kg should the wheat be sold to get a
profit of 15%?

Options:
1 % Rs16.60

- o Rs18.40
= % Rs19.60

4 % Rs 2040

Question Number : 27 Question Id : 799627627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % ¥ 16.60
> v & 18.40
- % & 19.60

4 » ® 2040

Question Number : 28 Question Id : 799627628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Each interior angle of a regular polygon is 135 . The number of sides of the polygon is:
Options:
1 & 6

2_%7

3¢ 8



4 ® 10

Question Number : 28 Question Id : 799627628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Uk WH g F Godh 3 HI0T 135 & 2 ag@ﬁsﬁragmgﬁsﬁrm%:
Options:

1_235

2_23?

3 ¢ 8

4 ® 10

Question Number : 29 Question Id : 799627629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements is noft true?

Options:
, # Allthombuses are parallelograms

- % All squares are thombuses and also rectangles

5 % All parallelograms are trapeziums

4  All squares are not parallelograms

Question Number : 29 Question Id : 799627629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
o= Fual # o +i9 @ gcT a8 22
Options:
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Question Number : 30 Question Id : 799627630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The area of a rhombus is 120 cm? and one of its diagonal is 24cm. the perimeter of the
thombus is:
Options:

1 # 44cm

- % 48 cm
3 " 32 cm

4 % 104 cm

Question Number : 30 Question Id : 799627630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ue HAAGHS H1 awe 120 HA § AR sES ve Ao i wars 24 T
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Options:

| % 44 TAT
o 48 TAT
s« 52 TAT
4 % 104 T

Question Number : 31 Question Id : 799627631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Perimeter of an equilateral triangle is 27 cm. Its area. in em?. is:
Options:

8143
1.v 4

2743




2743

93
4 ® 2

Question Number : 31 Question Id : 799627631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
v FAETE s @ 9w 27 W 1 swe aEwa (W ) &

Options:
8143
1.V 4

2743

2743

93
4 ® 2

Question Number : 32 Question Id : 799627632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The base of a triangle is 3 times its corresponding height and its area is 3750 cm~. The
length of its base is:

Options:
1 % 060cm

-~ % 90cm
= % 120 cm

4 « 150 cm

Question Number : 32 Question Id : 799627632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 33 Question Id : 799627633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A wire of length 44 cm is bent to form a circle. The area of the

: . : 22
circle (in em?) is (take 7= 7).

Options:
1 ® 77

o5 o 154
s % 231

4 % 308

Question Number : 33 Question Id : 799627633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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7
Options:

1 ® ?7
- v 154
2 % 231

L % 308

Question Number : 34 Question Id : 799627634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The side of a square is 54 cm. The perimeter of this square is equal to the perimeter of a
rectangle where length and breadth are in the ratio 3:1. The ratio of the area of the square
to that of the rectangle is:

Options:



Question Number : 34 Question Id : 799627634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1 ® 3:4
o o 4:3
= ® 2-3

4 ® 32

Question Number : 35 Question Id : 799627635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The distance between the parallel sides of a frapezium is 9 cm and its area is a 270 cm?.
The ratio of its parallel sides is 8:7. The difference (in cm) of the parallel sides is:

Options:
1 #® s

2_333

3 ¢ 4

Question Number : 35 Question Id : 799627635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 ® 2

2_233

3¢ 4

4 % 6

Question Number : 36 Question Id : 799627636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Two dice are thrown simultaneously. The probability of getting the sum of numbers
appearing on their tops as ‘at least 97 is:
Options:
5

1 #® 12

ra
®
|

o | =

5

4 o 18

Question Number : 36 Question Id : 799627636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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2
4 & 18

Question Number : 37 Question Id : 799627637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Of three numbers, the first is twice the second and the second is thrice the third. If the
average of the three numbers is 70. then the average of the first and third number is :

Options:
1 & 42

T 84

4 % 94.5

Question Number : 37 Question Id : 799627637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 & 42
. v 735
= W 84

. % 945

Question Number : 38 Question Id : 799627638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

There are 45 students in a class. The average age of boys in the class is 16.4 years and that
of girls i1s 15.4 years. If the ratio of number of boys to that of girls 1s 2:3. then the average
age (in years) of the students in the class is:

Options:

1 « 15.8

> % 15.9



s % 16.1

4 % 16.2

Question Number : 38 Question Id : 799627638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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Options:

. v 15.8
, % 15.9
2 % 16.1

L % 16.2

Question Number : 39 Question Id : 799627639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The average of all the two digit numbers divisible by both 2 and 5 is:

Options:
1 40

o R 45

Question Number : 39 Question Id : 799627639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:



3 v 50
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Question Number : 40 Question Id : 799627640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The average of ten numbers is 39.The first number is increased by 1. the second is
increased by 2. the third by 3 and so on. The average of the resulting numbers is:

Options:
1 ® 43

> o 44.5
3 % 45.5

4 W 44

Question Number : 40 Question Id : 799627640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1 & 43

o v 445
s % 455

g W 44

Question Number : 41 Question Id : 799627641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A car can cover a distance of 320 km in 4 hours. In what time can it cover the same

. e &4 2
distance if its speed becomes - of the original speed?
pu |

Options:

i
4 = hours



> « 5 hours
1

5=hours
2

4 % 0 hours

Question Number : 41 Question Id : 799627641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

Question Number : 42 Question Id : 799627642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A purse contains 378 coins consisting of one rupee. 50 paise and 25 paise coins. If their
respective values are in the ratio 13:11:7. the number of 50 paise coins is:

Options:
1 *® 63

4 % 168

Question Number : 42 Question Id : 799627642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:




1 *® 63
o W 78
- v 132

. % 168

Question Number : 43 Question Id : 799627643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
25 persons working 9 hours a day can do a piece of work in 40 days. In how many days
will 15 persons working 10 hours a days do the same work?

Options:
, % 40 days

- » 45days

5 % S0days

4  00days

Question Number : 43 Question Id : 799627643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

4 v 60 o=

Question Number : 44 Question Id : 799627644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



A sum of Rs 8820 is dn ided among 4 persons A. B.C 'md D such that B’s share i ~:-. - of
A’s share. C’s share is - ng ¢ share and D’s share i 35> Df what B and C IDgEThEl

receive. The share of D is:

Options:
1.« Rs 504

- % Rs 1260
= # Rs 2016

4 % Rs 5040

Question Number : 44 Question Id : 799627644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| v & 504

. % & 1260
2 % ® 2016

L # & 5040

Question Number : 45 Question Id : 799627645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
If the weight of 9 sheets of paper 15 25 grams, then how many sheets

of the same paper would Weigh 1 - kg‘?

Options:
;% 250

> % 300
5 % 360

4 v 450



Question Number : 45 Question Id : 799627645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

% 250
- % 300
- % 360

L v 450

Question Number : 46 Question Id : 799627646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A sum of Rs 6250 amounts to Rs.7840 in 2 years at a certain rate percent per annum when
the interest is compounded annually. At the same rate, simple interest on a sum of Rs
12200 for the same time will be:
Options:

1 #% Rs 1464

> « RS 2928
= % Rs 4392

4 % Rs 4398

Question Number : 46 Question Id : 799627646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

, % ¥ 1464

, v ® 2028

s » ® 4392



4 % & 4398

Question Number : 47 Question Id : 799627647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

i 3 i
The compound interest on sum of Rs 31250 at 8% per annum for 2 L Years is:
Options:
1 % Rs 6875
- #% Rs 06250

= % Rs 7357

4 « Rs 7387

Question Number : 47 Question Id : 799627647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| % & B875

. % & 6250
5 % & 7357

L v & 7387

Question Number : 48 Question Id : 799627648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A sum of Rs 7500 put out at simple interest amounts to Rs 9300 in 3 years. What will a
sum of Rs 4875 amount to in 5 years at the same rate of interest?

Options:
1 #% Rs 5850
- % Rs 6045

=z o RS 06825

4 % Rs 8775



Question Number : 48 Question Id : 799627648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| % & 5850

.« ® 6045
;v ® 6825

. % ® 8775

Question Number : 49 Question Id : 799627649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The equal sums are lent out at the same time at 4% and 3 % per
annum simple interest respectively. The former is recoverad 2 years
earlier than the latter and the amount in each case is Rs 9300. Each
sum 1s of :

Options:

1 #% Rs 7000

> % Rs 7200
= o Rs 7500

4 % Rs 7800

Question Number : 49 Question Id : 799627649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % ® 7000
. % & 7200

2 v & 7500



4 % ® 7800

Question Number : 50 Question Id : 799627650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the compound interest on a certain sum for 2 years at 4% per annum is Rs 9792, what
would be the simple interest on the same sum for the same time at the same rate of
interest?
Options:

1 # Rs 8000

- % Rs 8800
= % Rs 9000

4 « Rs 9600

Question Number : 50 Question Id : 799627650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| % & 8000

, % ® 8800
- % ® 9000

4 v ® 9600



